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ah]6 tyf sfo{qmd 

#=! cf=j= )&$.&% sf nflu kf6g gu/kflnsf sf] ah]6 ljj/0f 

   qm 

;+= ljj/0f  /sd   

s_ k|fKt ah]6 l;ln+u -cfo cg'dfg_ 

1 ljQLo ;dfgLs/0f -s]Gb|Lo ;/sf/ cg'bfg_              222,729,000.00  

2 zt{ cg'bfg -s]Gb|Lo ;/sf/ cg'bfg_             148,410,000.00  

2 gu/  kflnsfsf] ;l~rt sf]if vftfdf df}Hhfb                 13,794,008.00  

3 
cfGtl/s cfDbfgL tkm{  -!%,)),))).)) cfGtl/s cfo / !),)),))).)) 

/fh:j afF8kmfF8 tkm{ _                   2,500,000.00  

4 gu/ kflnsf Joj:yfkgsf nflu k|fKt /sd dWo]                  6,759,782.00  

5 ;fdflhs ;'/Iff               80,000,000.00  

6 nfut ;xefuLtf                 5,000,000.00  

7 bft[ lgsfoaf6 k|fKt ;xo]fu                6,719,284.00  

  hDdf ah]6 l;lnË -s_         485,912,074.00  

v_ Joo cg'dfg 

1 zzt{ cg'bfg             148,410,000.00  

2 ;fdflhs ;'/Iff sfo{qmd               80,000,000.00  

3 nfut ;xefuLtf                5,000,000.00  

4 rfn' vr{ tkm{ ljlgof]lht -gu/ kflnsf / j8f sfof{nox? tkm{_                41,412,839.00  

5 

gu/ kflnsf Joj:yfkgsf nflu k|fKt /sd                                

-gu/ kflnsf Joj:yfkgsf nlu k|fKt /sd nfO{ gu/ kflnsf / j8f 

sfof{no Joj:yfkgsf nlu ljlgof]lht ug'{ kg]{_                 6,759,782.00  

6 bft[ lgsfoaf6 x'g] vr{                 6,719,284.00  

7 k'hLut vr{               197,610,169.00  

  hDdf /sd -v_         485,912,074.00  

   
k'hLut vr{ ljj/0f                              -    

   1 sfof{no ejg s|dfut of]hgf              20,000,000.00  

2 ltgs'8f u'?8f ;8s sfnf]kq] s|dfut of]hgf                1,500,000.00  

3 sfo{no ejg ;DDfhf]8\g] ;8s sfnf]kq]  s|dfut of]hgf                 1,316,000.00  
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4 ;dk'/s sf]if tkm{                8,017,742.00  

5 )( / )# j8f sfof{nosf nflu ejg lgdf{0f                4,000,000.00  

6 ljBfnof cGt/ut /x]sf lghL lzIfsx?nfO{ cg'bfg      10,000,000.00  

8 cf}ifwL tyf :jf:Yo pks/0f tyf :jf:Yo ;]jf Jojj:yfkg       7,000,000.00  

9 )( j8f sf ufpF3/ lSnlgs ejg tyf sfof{no Joj:yfkg        400,000.00  

10 :j+;]ljsfsf nflu medic moblie  ;xof]u sfo{sd        270,000.00  

11 afn d}qL zf;gdf ;xof]u        4,000,000.00  

12 b]jn lbJok'/ pkNnf af6'nf kf6g ;8s       8,000,000.00  

13 j8f :t/Lo of]hgfx?             100,000,000.00  

14 gu/ :t/Lo of]hgfx?                33,106,427.00  

  hDdf         197,610,169.00  

   

   
gu/kflnsf sfof{no Joj:yfkg ;DaGwL vr{  ljj/0f ;DaGwdf 

 
   1 ;jf/L ;fwg vl/b-df]6/;fOsn_                2,500,000.00  

2 gu/ :t/L k|fkmfOn lgdf{0f                1,000,000.00  

3 ljkb Joj:yfkg                  700,000.00  

4 sfof{no ;dfg Nofk 6k, lk|G6/,                 1,000,000.00  

5 sfof{no kmlg{l;+8                  500,000.00  

6 web site internet , ;'rgf ;+rf/ Joj:yfkg        200,000.00  

8 kmf]x/ d}nf Joj:yf        500,000.00  

9 d]lzg/L cfhf]/        200,000.00  

10 j8f sfof{no Joj:yfkg         159,782.00  

  hDdf           6,759,782.00  
 

cfly{s jif{ @)&$.)&% sf] ;~rfng tkm{ ljlgof]lht ah]6 

lzif{s ljj/0f sfo{kflnsf tkm{ 

j8f tkm{ 

 hDdf  

 k|lt j8f    !) j6f j8fsf]   

21111 tna  

          
8,599,699.00  

    
1,010,416.00  

     
10,104,160.00  

      
18,703,859.0
0  

1.01.3 sd{rf/L sNof0f sf]if 

            
242,400.00  

       
42,438.00  

        
424,380.00  

           
666,780.00  

21112 :yfgLo eQf 

            
700,000.00  

       
98,520.00  

        
985,200.00  

        
1,685,200.00  

21113 dxFuL eQf                                          
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276,000.00  36,000.00  360,000.00  636,000.00  

21121 kf]zfs eQf 

             
225,000.00  

        
22,500.00  

        
225,000.00  

          
450,000.00  

21119 gu/ ;ef ;+rfng vr{ 

            
200,000.00  

       
30,000.00  

        
300,000.00  

          
500,000.00  

22111 kfgL tyf ljh'nL 

             
175,000.00  

       
20,000.00  

        
200,000.00  

          
375,000.00  

22112 ;+rf/ dx;'n 

            
200,000.00  

       
40,000.00  

        
400,000.00  

          
600,000.00  

22121 3/ef8f 

            
700,000.00    

        
456,000.00  

         
1,156,000.00  

2241
1 k/fdz{ ;]jf 

           
1,350,000.00  

                 
-    

                   
-    

        
1,350,000.00  

2252
2 sfo{qmd vr{ 

              
50,000.00  

       
25,000.00  

        
250,000.00  

          
300,000.00  

22211 Ogwg . oftfoft 

            
500,000.00  

        
36,000.00  

         
360,000.00  

          
860,000.00  

22212 
;+rfng tyf dd{t 

;Def/  

           
1,150,000.00  

       
40,000.00  

        
400,000.00  

        
1,550,000.00  

22213 aLdf 

            
100,000.00  

         
8,000.00  

         
80,000.00  

          
180,000.00  

22311 sfof{no ;DaGwL vr{  

           
1,650,000.00  

      
150,000.00  

      
1,500,000.00  

        
3,150,000.00  

2231
4 cGo OGwg 

             
150,000.00  

         
5,000.00  

          
50,000.00  

          
200,000.00  

2241
2 

a}7s eQf tyf vfhf 

vr{  

           
1,350,000.00  

      
260,000.00  

      
2,600,000.00  

        
3,950,000.00  

22611 cg'udg, d'Nofs+g vr{  

            
900,000.00  

       
50,000.00  

        
500,000.00  

        
1,400,000.00  

22612 e|d0f vr{  

           
1,650,000.00  

       
75,000.00  

        
750,000.00  

       
2,400,000.00  

22711 ljljw vr{ 

            
300,000.00  

       
50,000.00  

        
500,000.00  

          
800,000.00  

22711 
ljljw -zfGtL ;'/Iff 

vr{_ 

            
500,000.00  

                 
-    

                   
-    

          
500,000.00  

hDdf  

     
20,968,099.00  

 
1,998,874.0
0  

 
20,444,740.0
0  

   
41,412,839.0
0  

 

gu/ :t/Lo of]hgfx? 

   

s|=;+= of]hgfsf] gfd ah]6 /sd ?=xhf/df 

1 a]8f}tL u'h/ xb} /f}n]Zj/ ;8s 2450.00 
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2 u}n]s rk8f 7'nL vfnL ;8s 2450.00 

3 l;2]Zj/ lsrf/ /f}n]Zj/ ;8s 3200.00 

4 b]xLdf08f} a;Gtk'/ ;8s 2450.00 

5 r'Nn]s s}nkfn ;8s 1950.00 

6 kf6g ax'd'vL SofDk'; ejg lgdf{0f{ 1750.00 

7 r'RofO{ vf]N;L ;'s]nL ;8s 1450.00 

8 ;/:jtL df=lj= ;Nn]jf;f ejg lgdf{0f 1450.00 

9 as'Nnf lrNn]kfgL / 7f8 auf8L  a;Gtk'/ ;8s 1450.00 

10 /fuf+ h'hfpgf ?;fOgL vfg]kfgL 950.00 

11 tf]nL 9sfnL kfvfwf/ ;8s 950.00 

12 lgnkfn]Zj/ df=lj= 1200.00 

13 Uf8s'nf} l;rfO{ of]hgf 950.00 

14 s[i0f df=lj= ejg lgdf{0f kf6g 1200.00 

15 l;4]Zj/ df=lj= ejg lgdf{0f 1000.00 

16 wg;]gL vf=kf= lgdf{0f{ g+uf}gf 500.00 

17 em';] e'jf uf}n]s vfg]kfgL 500.00 

18 dxf?b| dlGb/ 500.00 

19 uf]ufg vf]nf a]G8faf6'nL vfg]kfgL  600.00 

20 ;x:ln+u dlGb/ lgdf{0f of]hgf 800.00 

21 xlnof tYof+s ;+sng dlxnfx?sf] ;Lk ljsf; tyf Ifdtf ljsf; tflnd 500.00 

22 nf6fkGt dlGb/ lgdf{0f of]hgf 500.00 

23 8f8faf3 ;s{]gL  ko{6sLo ;8s 500.00 

24 tNnf:of9L b]lv sg]8fn]s ;Ddsf\ uf]/]6f af6f]  500.00 

25 e]Nnf}8f l;rfO{ lgdf{0f of]hgf 500.00 

26 l;uf; df=lj=/ u'h/ df=lj= 500.00 

27 s'nu8] dlGb/ 500.00 

28 a]onrf}/f aly{u ;]G6/ 500.00 

29 1fg]Zj/ df=lj= ljhok'/ 800.00 

30 l;Qf]nf agf]nf vf=kf= of]hgf 500.00 

31 ;f:s[lts k|jw{Gf  100.00 

  hDdf 33150.00 

 

j8f g+= ! 



 

5 
 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 s[ifs ;d'xnfO{ aLp lapaLhg ljt/0f ;a} ^f]n       100.00  

1=2 pGgt hftsf] af]sf ljt/0f ;a} ^f]n       200.00  

2 ;fdflhs ljsf;            -    

2=1 nf6fsbf/L WjgL 3/ lgdf{0f{         300.00  

2=2 a]tfn dlGb/ lgdf{0f         200.00  

2=3 e'ld/fh dlGb/ WjgL 3/ lgdf{0f         400.00  

2=4 e'jg]Zj/ cfwf/e't ljBfno ejg ddt{ nbf}nL         500.00  

2=5 1fgHofl]t cfwf/e't ljBfno ejg dd{t         500.00  

2=6 hgtf cfwf/e't kf]v/L ljBfno ejg dd{t         200.00  

2=7 l;:jtL cwf/e't ljBfno u'Ty8L ejg ddt{         200.00  

2=8 u/fNn]s vfg]kfgL of]hgf -b'uf{ a]tfn]Zj/ _         300.00  

2=9 an]t, b'uf{ dlGb/ vf=kf= tyf zf}Rffno lgdf{0f         200.00  

2=10 kf]v/L blnt a:tL vf=kf=         100.00  

2=11 vfg]kfgL of]hgf dd{t 

;a} j*f 

e/L       400.00  

2=12 h/f}}nL vf=kf= of]hgf         200.00  

2=13 u0f]zk'/ laonrf}/f vf=kf=         200.00  

2=14 h/f}nL e'ld/fh d/f8 uf]/] vf]nf] lgdf{0f         200.00  

3 k'jf{wf/ ljsf;           -    

3=1 r'Nn]s 8}z]nL nbf}nL ;8s        2,000.00  

3=2 nf]vf{ ;sf/ s}nkfn ;8s        1,000.00  

3=3 8}z]nL ;sf/ h]anf kf]v/L ;8s        1,000.00  

3=4 tNnf] d}rfnL l;rfO{ of]hgf         500.00  

3=5 v}/ au/ l;rfO{ of]hgf         300.00  

3=6 7f8f 8fuf l;rfO{ of]hgf         200.00  

3=7 c8tf]nf af6;nf ;f} ;8s         400.00  

3=8 3f]/]6f] af6f] ;sf/ af6;]/f         200.00  

  hDdf       10,000.00  

 

j8f g+= @ 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 s[ifs ;d'xx?nfO{ aLpaLhg, s[lif ;fd|uL, ;xof]uf ;a} ^f]n       400.00  
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1=2 s[lif tyf kz' kfngsf nflu /f]u lgoGq0f sfo{s|d ;a} ^f]n       100.00  

1=3 cf/g ;'wf/ sfo{s|d         100.00  

2 ;fdflhs ljsf;            -    

2=1 l;of8 l;G6f]n 9'u]nL vf]gkfgL of]hgf         300.00  

2=2 dNnf]8f gx/ b]lv wg;}gL eutf]8L vf=kf=of]hgf         200.00  

2=3 dxf?b| dlGb/ lgdf{0f, a]tfn dlGb/ lgdf{0f         500.00  

2=4 nf6fs6f/L dlGb/ wg;}gL w'gL 3/ lgdf{0f . Dfd{t         300.00  

2=5 x+;/fh, d;fgL emfn 6x/f lgdf{0f         300.00  

2=6 h]i7 gful/s ;Ddfg sfo{s|d         100.00  

2=7 e'ld/fh cfwf/e't k|f=lj= 3]/kfv{n         200.00  

2=8 e[s'6L k|f=lj=         100.00  

2=9 dlxnf lx+;f ;DaGwL ;r]tgfd'ns sfo{s|d         100.00  

2=10 
vfg]kfgL of]hgf dd{t ltdnfu}/, hf[zL, tNnf] ;'gvf]nf, 

a]tfn vf=kf=         400.00  

3 k'jf{wf/ ljsf;           -    

3=1 dflgsfvfg dnf]8f ahf/ kf6g ;8s        1,700.00  

3=2 ?O;fgL, 9'+u]nL l;G6f]n ;8s         900.00  

3=3 cgf.vf[nL lnp8]u8f ;8s         250.00  

3=4 dxf?b b\]lv l;g6f]n ;Dd ;8s         800.00  

3=5 kmTs']g nf]6']g df8' b]lv l;n+uf ;8s         400.00  

3=6 6'8Lvf]n vf]nf cf/;L;L k'n         200.00  

3=7 uf8LOh/ cf/;L;L k'n lgdf{0f         150.00  

3=8 xNn] l;rfO{ s'nf] of]hgf v'NnL cf8f/         700.00  

3=9 l;d l;rfO{ 6+sL lgdf{0f         200.00  

3=10 lagf]8f l;rfO{ s'nf] tyf  6+sL dd{t         700.00  

3=11 g]t s6\6] l;rfO{ 6+sL lgdf{0f         500.00  

3=12 nf]6\g]df8f} ahf/ af6f] dd{t         100.00  

  hns'8f b]lv lqk'/]zj/ ;Dd af6f]         100.00  

4 jftfj0f tyf ljkb Joj:yfkg           -    

4=1 dnf]8f ahf/df ;fj{hlgs zf}rfno         100.00  
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4=2 cfktsflng ljkb Joj:yfkg sf]if         100.00  

  hDdf       10,000.00  

 

j8f g+= # 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 w'/f lkkn rf}tf/f] lgdf{0f         100.00  

1=2 sNt8L lkkn rf}tf/f] lgdf{0f         100.00  

2 ;fdflhs ljsf;            -    

2=1 sd]8kfgL b]lv uf}tu8f ?k6fgL jg;f8 vf=kf=of]         200.00  

2=2 af]x/Lufp l;df/ blnt vfg]kfgL of]hgf         700.00  

2=3 s7\ofvf]nf b]lv s7\8f8f ;Dd vf=kf= of]hgf         100.00  

2=4 9f]8]afh vf]gkfgL of]hgf         500.00  

2=5 c+of/ kfgL vfg]kfgL Gjfn] dd{t         100.00  

2=6 v]Ddaf vf]nf b]lv ef}gL e}; vs{ ;Dd vf=kf= of]hgf         200.00  

2=7 uf]ugvf]nf emfnLdfnL vf=kf=of]         400.00  

3 k'jf{wf/ ljsf;           -    

3=1 aTyL u8fg ;'sfa}gL x'b} sNt8L ;8s        1,400.00  

3=2 emfnLdfnL u'/fnL x'b} j8f sfof{no ;Dd ;8s        1,000.00  

3=3 l5gL df]8 b]lv uf}8fnL k|f=lj= ;Dd ;8s        1,300.00  

3=4 ef;' u'?8f x'b} h8fsf]6 ;Dd ;8s         300.00  

3=5 w'/f lkknrf}tf/f b]lv a'u8f k|f=lj= ;Dd ;8s         300.00  

3=6 sg]8f bx x'b} uf}8fnL ;8s         300.00  

3=7 ggLuf8 b]lv sNt8L vf]nf u}/ ;Dd l;rfO{         500.00  

3=8 ;f}6'8f l;rfO{ tyf vf=kf=of]hgf         700.00  

3=9 h8fsf]6 l;rfO{ of]hgf         500.00  

3=10 /fOsf]6f uf]ugf8L l;rfO{          300.00  

3=11 tf]nf l;rfO{ of]hgf         500.00  

3=12 v6Ldf rf}/fO{ gfgLuf8 uf}8fnL hf]8'g] cf/;L ;L k'n         500.00  

  hDdf       10,000.00  

 

j8f g+= $ 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     
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1=1 

e'ld/fh tyf lzjln+u s[if;d'xsf ;b:ox?sf] cb'jf v]tLsf] 

nflu ljp vl/b, lrNn]kfgL s[ifs ;d'x / 9sfnL h]p8]sf 

s[ifs ;d"xsfnflu sfutL cldnf]sf jf]6 vl/b 

  

160 

1=2 rf/j6} 6f]ndf pGgt hftsf af]sf vl/b   110 

1=3 l;2s]bf/ ;xsf/Lsf] 5fgf] lgdf{0f   100 

1=4 

 ;fd'bflos ;+:yfsf kbflwsf/Lx?sf] Ifdtf clej[l4 sfo{s|d 

  

150 

lzjln+u dlxnf ;xsf/L 3]/ kvf{n   

;x:qln+u s}nkfn s[ifL ;xsf/L ;+:yfsf nflu Nofk6k vl/b 

  

2 ;fdflhs ljsf;      

2=1 s'8lkGGff vfg]kfgL dd{t of]hgf   200 

2=2 e6\6]ufp eNN]fufp vfg]kfgL dd{t   160 

2=3 vf]N;L vfg]kfgL dd{t of]hgf-jf/Lkf/L_   200 

2=4 y'd vfg]kfgL ddt{ of]hgf   160 

2=5 

eujtL k|f=lj=jly{Ë ;]G6/-&),))).–_tyf wf/fkgL d"n ;+/If0f 

cfu/ vfg]kfgL of]hgf-kfO{k vl/b, &),))).–_ 

  140 

2=6 

e}g vf]nf u'?;f8 vfg]kfgL tyf /}6]kfgL h};]]/Ldf08f}+ vfg]kfgL 

of]hgf -@,)),))).– ±!,@),))).–_ 

  320 

2=7 

s6\o'n-@%,))).–_, 8DkfgL-*),))).–_, df]xgk'/ kfO{k vl/b-

@%,))).–_ tyf 6'kf3/ 6+ls dd{t of]hgf-&),))).–_ 

  200 

2=8 

blnt 6f]n cw'/f] vfg]kfgL of]hgf   150 

Gjfnf] lgdf{0f of]hgf   

hdGynf vfg]kfgL dd{t of]hgf   

lrgf8 vfg]kfgL dd{t of]hgf   

2=9 

sfkmnf8f8f vfg]kfgL dd{t-#),))).–_ tyf blnt vfg]kfgL 

of]hgf -*),))).–_ 

  110 

2=10 e]pNbf vfg]kfgL dd{t of]hgf   110 

2=11 >L e'd]Zj/ p=df=lj= 3]/ kvf{n   200 

2=12 >L s]bf/ lzz' ljBfno 3]/jf/ tyf dd{t    100 

2=13 >L ;x;|ln+u k|f=lj=df ejg lgdf{0f   200 

2=14 >L gjb'uf{ lg=df=ljdf ejg dd{t   150 

2=15 >L eujtL k|f=lj=df 3]/jf/ tyf dlGb/ lgdf{0f   150 

2=16 >L blnt d;fgL k|f=lj=df 3]/jf/ kvf{n of]hgf   100 
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2=17 

>L pbo b]j k|f=lj= auf8Ldf 3/ kvf{n tyf vf=kf= dd{t 

  100 

2=18 >L l;2s]bf/ k|f=lj=df 3]/ kvf{n   100 

2=19 >L e'd]Zj df=lj=sf nflu sDKo'6/ vl/b of]hgf   100 

2=20  :jf:Yo rf}sL 5fgf] lgdf{0f   250 

2=21 :jf:Yojf6 k|fKt kq cg';f/ dfu ePsf ljifoj:t'x?   400 

2=22 

e'ld/fh dlGb/ kvf{n lgdf{0f of]hgf   620 

6'0f]k'hf WjgL 3/ lgdf{0f of]hgf   

d;fgL dlGb/sf] 3]/jf/ lgdf{0f of]hgf   

gfufh{'g dlGb/ WjgL 3/ lgdf{0f of]hgf   

lrNn]kfgL e08f/3/ dd{t of]hgf   

agf/;L dlGb/sf] e08f/ 3/ j/08f lgdf{0f   

e'dL/fh dlGb/ 3]/ kvf{n tyf efF8fs'8f vl/b of]hgf 

  

jgf/;L kfvfwf/ af]sf sf6\g] :yfg :yfkgf -5fgf ;lxt_ 

  

2=23 

ckf+usf nflu -XjLn r]o/ vl/b !),))).–_,cfocfh{g 

sfof{s|dsf nflu -!,$),)))._ 

  110 

2=24 

l;2s]bf/ k|flj lrNN]f kfgL lzz' sIff afnd}qL k"0f{ Joj:yfkg 

  

520 

d;fgL blnt k|flj h]p8]   

 Ps xhf/ lbg] cfdfx?sf]nflu kf]if0f Joj"yfkg / k|j4{g 

  

;x;| ln+u k|f=ljdf jfnd}qL k'0f{ sIff Joj:yfkg   

eujtL k|f=lj=sf] rp/df afnlqm8f :yn lgdf{0f of]hgf 

  

gfufh'{g z}kfn k|fljsf] lz;' sIff Joj:yfkg   

jfnljjfx Go'gLs/0fsf nflu ;r]tgfd"ns sfo{s|d   

2=25 

;x;|ln+u dlGb/df dlxnfx?sf nflu j:g] :yfg Joj:yfkg 

  

320 

c;xfo dlxnf nLIft l;kd"ns tflnd sfo{s|d   

dlxnf ljz]if sfo{s|d   

2=26 h]i7 gful/s ;Ddfg sfo{s|d   100 

2=27 

agf/;L Pstf ;ldtLsf] ejg dd{t tyf ;f}rfno lgdf{0f 

  180 

3 k'jf{wf/ ljsf;     

3=1 tf]nL kfvfwf/ ;8s   100 
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3=2 hf]nfjfh  kfvfwf/ ;8s   800 

3=3 r'RofO{ vf]N;L ;8s   500 

3=4  hf]nfjfh  vf]N;L ;8s   300 

3=5 h]p8] kftfn e'd]Zj/ ;8s   300 

3=6 l;p8] b]jL gu/x'Fb} 9sfnL ko{6s ;8s   150 

3=7 

l;jln+u dlGb/ hfg] ;8s   

130 

/]nf b]lv 7'N/f]8f ;Ddsf] jf6f] lgdf{0f of]hgf-v0fhf+_   

kYy/vfg b]lv d;fgL k|f=lj= ;Ddsf] jf6f]   

3=8 auf8L e6]ufFp hf]8\g] k'n -dlGb/ dflyNNff] 5]p_   500 

3=9 l;Nnf]8f l;+rfO{ of]hgf   100 

3=10 b'jf8s l;+rfO{ of]hgf   400 

3=11 /f}6]kfgL l;+rfO{ of]hgf   100 

3=12 

7'NvfnL  kf]v/L lgdf{0f tyf 9sNof vf]nf l;+rfO{ of]hgf-

#,)),))).– ±!,)),))).–_ 

  400 

  h]i7 zlxb ejg lgdf{0f   150 

4 jftfj0f tyf ljkb Joj:yfkg     

4=1 

uf]n5]p ;8s dfly klx/f] /f]syfdsf nflu kvf{n lgdf{0f 

  100 

  hDdf       10,000.00  

 

j8f g+= % 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 
sdn vf]nf lwjf{O{ ;}gL kf]v/L lgdf{0f   

400 

1=2 
tNnL cf]bfnL kf]v/L dd{t tyf kfOk vl/b   

160 

1=3 
utf{ kf]v/L lgdf{0f   

200 

1=4 
l;dkfgL kf]v/L lgdf{0f   

200 

1=5 
kf;fO{ vfnL h's]kfgL kf]v/L lgdf{0f   

200 

1=6 
utf]{nf l;rfO{ kf]v/L lgdf{0f   

240 

1=7 
aonf l;rfO{ kf]v/L lgdf{0f   

200 

2 ;fdflhs ljsf;    0 

2=1 
l;Ttf]nf af}gf]nf /fhfnf vfg]kfgL lgdf{0f   

500 

2=2 
sg]8f vfg]kfgL tyf cfsf;] 6+sL lgdf{0f   

500 

2=3 
c:fb]jn vfg]kfgL tyf l;rfO{ lgdf{0f   

400 
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2=4 
wf/f kfgL c8\tf]nf vfg]kfgL dd{t   

200 

2=5 
3fªn,u'O{r8f,9nfuf8f-vs{_,vf=kf=dd{t   

200 

2=6 
7"nvf]nf,vftLvf]nf vf=kf=dd{t   

200 

2=7 
h's]kfgL b]jnu8f vf=kf=dd{t   

400 

2=8 
dfem8f8f u}/L lj;f}gL v'r'Nn]vfn vf=kf=lgdf{0f   

300 

2=9 
Gjfnf] tyf uhfn af6f] lgdf{0f -s'n8f_   

200 

2=10 
l;df/ b]8]vfnL vf=kf=dd{t   

100 

2=11 

s}nkfn Gjfvf]nf vf=kf=lgdf{0f . Hofjnf 8f8f vf=kf=dd{t   

100 

2=13 
b]jnu8f s4f/ vf=kf=dd{t   

200 

3 k'jf{wf/ ljsf;   0 

3=1 
u'?vf]nf d':ofrf}/ j;Gtk'/ ;8s lgdf{0f   

2100 

3=2 
b]lxdf08f} j;Gtk'/ ;8s lgdf{0f   

1150 

3=3 
cf]bfnL j;Gtk'/ ;8s lgdf{0f   

1000 

3=4 
:of8Luf8 rf}8f cf/=l;=l;=k'n lgdf{0f   

600 

4 jftfj0f tyf ljkb Joj:yfkg   0 

4=1 
ss/L jg l;dfª\sg tyf g;{/L   

100 

4=2 

uf]nfsf]6 kftn ;fd"bfoLs jg l;dfª\sg . e"–s6fg tyf en 

lgoGq0f -b]jn_. s'n8f e"–s6fg tyf en lgoGq0f 

  

150 

  hDdf    10,000.00  

 

j8f g+= ^ 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 a]8f}tL l;rfO{ s'nf]         150.00  

1=2 :ofnw'gf b]lv s6/]3f6 l;rfO{         400.00  

1=3 sGof/f]8f l;rfO{ kf]v/L ;'s]nL          500.00  

2 ;fdflhs ljsf;      

2=1 lzj dlGb/ lgdf{0f         100.00  

  lkrf;df; dlGb/ nfdfv]t         100.00  

2=2 
a]tfn dlGb/ WjgL 3/ agf/;L e08f/ lkt/df08f} 

lgnkfn, s[i0f dlGb/         400.00  
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2=3 uf]o8f vf]nf nf]vf{ vfg]kfgL of]hgf         200.00  

2=4 ;fd'bflos ejg 8f]a/f zf}rfno kmlg{r/ lgdf{0f         400.00  

2=5 
cfwf/e't ljB]fnox?sf] 3]/kvf{n lgdf{0f -;'s]nL 

lx/fk'/, kGTof}8f_ -nf]vf{, kf6g, ;'Gtf]nL_         400.00  

2=6 gu8L af6f ef8Lu8f sf]Nof}8f vfg]kfgL of]hgf         500.00  

2=7 e8fnL s8fnL es'8f leds6\6] vf=kf=         200.00  

2=8 nf]vf{ blnt a:tL vfg]kfgL of]hgf         100.00  

2=9 es'8f vfg]kfgL of]hgf         300.00  

2=10 wotf nf]vf{ vfg]kfL of]hgf         200.00  

2=11 h]i7 gful/s ;Ddfg, ckf+u , Pr=cfO+=eL= ;xof]uf         100.00  

2=12 8f8faf3 dlGb/ 3]/kvf{n         100.00  

2=13 b]j:ynL dlGb/ WjgL 3/ dd{t tyf 3]/kvf{n         600.00  

2=14 cf/g ;'wf/ tyf Joj:yfkg         100.00  

2=15 uf}/f 3/ lgdf{0f v;/af6f         100.00  

2=16 ltns'8f vfg]kfgL of]hgf         200.00  

2=17 e's'8f afdgL dlGb/         100.00  

2=18 ;xlnu dlGb/  lgdf{0f gfulnaf6f         100.00  

2=19 6'8Lu}/ e'Nof}8f nf]vf{ vfg]kfgL dd{t         200.00  

2=20 vf]8L v]Nnf vf=kf=of] hgf         300.00  

2=21 rf}v8f vfg]kfgL         200.00  

2=22 kf6g ax'd'vL SofDk;         450.00  

3 k'jf{wf/ ljsf;     

3=1 auf8L uf8 l;rfO{ of]hgf         200.00  

3=2 uf}O8f vfnf l;rfO{ s'nf]         200.00  

3=3 rf}v'8f l;rfO{ of]hgf         300.00  

3=4 kl/jf/ lgof]hg ejg Joj:yfkg         100.00  

3=5 l;df]8f d;fgL x'b} s}nkfn dlGb/ hfg] lk=l;=l;= af6f]         100.00  

3=6 rf]/fwf/f b]lv af6L uf8f cf/Lvf]t lk=l;=l;= af6f]         500.00  

3=7 6s/] b]lv 6s/] ;Ddsf] lk=l;=l;= af6f]         200.00  

3=8 ;'g{of hn pkef]Qmf ;ldlt 9fnkf Joj:yfkg         100.00  

3=9 lkrf;df8f} b]lv d}t8f ;Dd lk=l;=l;= af6f]         300.00  

3=10 ;x:ln+u dlGb/ b]lv af6'nf l5gL df]7 ;Dd lk=l;=l;=         200.00  

3=11 sg]8f df]8 b]lv e'0f x'b} dxf?b| df]8 ;Dd ;8s         200.00  

3=12 lem6f b]lv ;'g{of k'n ;Dd lk=l;=l;=         100.00  

3=13 nfdfv]t ;'Gb/sf]6 d;fgv]t hfg] lk=l;=l;=         100.00  
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3=14 kmNbfu}/ b]lv ;x:ln+u k|f=lj= ;Ddsf] lk=l;=l;=          100.00  

3=15 kf/L k/f}8f b]lv k+r]Zj/ ;8s ;Dd lk=l;=l;=         100.00  

3=16 k+r]Zj/ d'n ;8s b]lv 6'8] u}/ ;Dd         200.00  

3=17 gu/L af6f kf6g l;rfO{ of]hgf         100.00  

4 jftfj0f tyf ljkb Joj:yfkg     

4=1 ;x:ln+u :'sn b]lv kmug vf]nf 9n lgsf;f         200.00  

4=2 k6f}tL u8v]t ;+/If0f k6f}tL         200.00  

  hDdf       10,000.00  

 

j8f g+= & 

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 ljiffbL aLp lahg,          120.00  

1=2 e'O/f8L l;rfO{ kf]v/L         300.00  

1=3 l;rfO{ kf]v/L 9'+u ltDnfgL         100.00  

1=4 l;rfO{ kf]v/L ?O;]kfgL         200.00  

1=5 sd]8fgL l;rfO{ kfOk         100.00  

1=6 l;rfO{ kfOk hfd8 n8b]p         105.00  

1=7 /p6] l;rfO{ of]hgf         135.00  

1=8 bf]nf l;rfO{ of]hgf         100.00  

2 ;fdflhs ljsf;      

2=1 pbob]j df=lj= k|fljlws lzIff ;+rfng        1,000.00  

2=2 afn hfu[lt cfwf/e't         200.00  

2=3 :jf:Yo rf}sL hUuf vl/b         500.00  

2=4 :jf:Yo lSnlgs ejg lgdf0f{, ;f]nf/ vl/b          225.00  

2=5 s}nkfn dlGb/ efG;f tyf zf}rfno lgdf{0f         100.00  

2=6 l;d/f]8f ;T;+u ejg, a8 rt{'e'h lzjfno, ?b|b]j          425.00  

2=7 pkNnf af6'nf vf=kf=         250.00  

2=8 
l;d/f]8f, a'uf, dlt/f, ?kNnL blnt a:tL, lgnkfn dlGb/, 

s/r'nf a}tf]nf, eunf, t';/fgL, dl6gf         375.00  
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2=9 9'+u, efgLu8f vfg]kfgL         195.00  

3 k'jf{wf/ ljsf;     

3=1 cfnL kf]v/L l;rfO{ of]hgf         800.00  

3=2 hds6] l;rfO{ of]hgf        1,400.00  

3=3 hfdgL l;d/f]8f l;rfO{         300.00  

3=4 a/r'nf b]lv wfO/f]8f vf\nf 3f]/]6f]         150.00  

3=6 j8f sfof{nosf] ejg lgdf{0f tyf sf8]tf/        2,520.00  

4 jftfj0f tyf ljkb Joj:yfkg     

4=1 b}ljs k|sf]k k/]sf ljleGg JolQm nfO{ ;xof]u         200.00  

5 ;+:yfut ljsf; tyf ;]jf k|jfx     

5=1 ;+:yfut Ifdtf ljsf;, gful/s j8f kq         100.00  

6 ljlQo Joj:yfkg / ;'zf;g     

6=1 ;fj{hlgs kl/I0f, n]vfk/LI0f, ;'rgf tyf ;+rf/ Joj:yfkg         100.00  

  hDdf       10,000.00  

 

j8f g+= * 
  

s|=;+= ljifout If]q . of]hgfsf] gfd :yfg ljlgof]hg /sd 

1 cfly{s ljsf; ;ldlt     

1=1 cfTdljsf; ;xsf/L ;+:yfnfO{ s[lif ;fd\uL ljt/0f         100.00  

1=2 pGgt hftsf] af]sf vl/b         100.00  

1=3 l;rfO{ s'nf] lgdf{0f l/;]*L       125.00  

1=4 clt ljkGg hghftL kl/jf/nfO{ s'v'/f afv|f kfng         100.00  

2 ;fdflhs ljsf;      

2=1 lzjdlGb/ vf]8]k] ljjfx s'G8 lgdf0f{         100.00  

2=2 wf/L u'kmf, l;4gfy u'kmf, /fdhgsL dlGb/, /fwf s[i0f dlGb/          175.00  

2=3 hglk|o k|f=lj= ejg dd{t         100.00  

2=4 hgtf df=lj=cf?af6f         300.00  

2=5 l;4bLk cfwf/e't         200.00  

2=6 dx]Zj/ cfwf/e't ljBfno         200.00  
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2=7 1fg]Zj/ p=df=lj= 3]/kfv{n         100.00  

2=8 l;2]Zj/ df=lj= x'Ss]8f8f 3]/kfv{n         100.00  

2=9 afdgyf}8f vfg]kfgLHofkm'         400.00  

2=10 emf}n]s wgf8L vf=kf=         100.00  

2=11 rfr/vf]nf vfg]kfgL dNnf cf?af6f         100.00  

2=12 wd{zfnf xl/rg ef}gL vf=kf=         100.00  

2=13 /fufh'hfpgf vf=kf=         400.00  

2=14 e'/e'/] afh vf=kf=         175.00  

2=15 l/;]8L vf=kf=         100.00  

2=16 ;f]vfof vf=kf=, 8f]6\ofn dd{t         100.00  

2=17 ljKk]s6fn vf=kf=         300.00  

2=18 ?O;fgL vf=kf=         500.00  

2=19 vf=kf= dd{t j8f sf ;a}         600.00  

2=20 xl/rg 6+sL lgdf{0f         100.00  

2=21 nfdf8f8f vfg\kfgL dd{t         200.00  

2=22 
h]i7 gful/s ;Ddfg, afn aflnsfnfO{ Ifdtf ljsf; tflnd, 

lszf\/L j[t nfO{ tflnd         100.00  

2=23 ltdn], cf]Nnf] ltdn] vfg]kfgL of]hgf         100.00  

2=24 afz'ln+u WjgL 3/ dlGb/         125.00  

2=25 kfrvf]nf dNnf cf?af6f vf=kf= of]hgf         200.00  

3 k'jf{wf/ ljsf;     

3=1 emf}n]s, sf}n]s, x'b} Hofk' ;Dd ;8s         300.00  

3=2 h;'nL vfnL ;Ndf8L ;Dd ;8s         100.00  

  h's]kfgL ;8s         200.00  

3=3 h;n] vfnL xb} nfdf8f8f ;Dd ;8s         400.00  

3=4 xl/rg vfnL 8f8f x'n} l/;]8L ;8s         600.00  

3=5 ;Nnof8L kNnf]wf/L ;8s lgdf{0f         200.00  

3=6 vf]8k] ;f}vfof, ?k;] wf/ ;8s         450.00  

3=7 ] cgf/vf]nL d6 s'sf} ;8s         700.00  

3=8 xl/rg df]8 b]lv /fuf h'hf}gf ;8s         100.00  

3=9 cf?af6f b]lv hfr s'Ssf} uf]/]6f] af6f]         100.00  

3=10 s'sf} l/;]8L hf\8\g] k'n         100.00  

3=11 l/;]8L, skmnrf}gf, cf/l;l; k'n, h's]kfgL         200.00  

3=12 Nof6L vf]nf cf/l;l; k'n         150.00  

3=13 l;rfO{ kf]v/L lgdf{0f, wf/L, Hofkm', ?O{;fgL, h's]kfgL         200.00  

3=14 ;efu[x vf]8.k\-lgdf"0flwg_         500.00  
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4 jftfj0f tyf ljkb Joj:yfkg     

4=1 cfw'lgs 36\6, ltdn]s, /L;]8L, /fuf h'hfpgf, emf}]n]s         100.00  

4=2 abfkfgL d'n, emf}ns d'n, kNnf8f8f d'n ;+/If0f         100.00  

4=3 vf]8k] afh/ kmf]x/d}nf Joj:yfkg         100.00  

  hDdf       10,000.00  

 

j8f g+= ( 

l;=g ljifout If]q . of]hgf jf sfo{qmdsf] gfd :yfg 
cg'dflgt ah]6 

? xhf/df  

  1  cfly{s ljsf;     

 1=1  

k|To]s ;d'bfodf /x]sf s[ifs ;d"x / s[ifsnfO{ cfw'lgs s[lif 

;fdfu|L, lap, lahg, dn vfB / cGo s[lif ;+u ;DalGwt 

cf}hf/x? lat/0f sfo{qmd 

Jf8f g= ( el/sf ;a} 

6f]nx? 
  100.00  

 1=2  
;fgf l;rFfO{ lgd{f0f Jf8f g= ( el/sf 

;d'xx?   100.00  

 1=3  
pGGt kz' tyf afv|f kfng Aoa;fo ;r+fngsf nfuL cg'bfg 

sfo{qmd kz' sfof{nodf btf{ ePsf Aoa;foL tyf 

kmd{x?nfO{  

  

  500.00  

 1=4  cf]vnw'/f dlGb/ lgdf{0f cf]vnw'/f   100.00  

 1=5  e'ld/fh dlGb/ u'kmf lgdf{0f sf]6Lu8f   100.00  

 1=6  s'v'/f kmfd{ ;r+fngsf nfuL cg'bfg sfo{qmdbtf{ ePsf kf]N6L kmd{x?nfO{   100.00  

 1=7  uf]s\0f{ dlGb/ lgdf{0f x\Ss]8fF8f   100.00  

 1=8  kLhf; dGbL/ u}/fvfg u}/fvfg   100.00  

  2  ;fdflhs ljsf;      

 2=1  
ejg lgd{f0f hglk|o cfwf/e't 

ljBfno    1,400.00  

 2=2  
3]/kv{fn lgd{f0f 1fg]Zj/ dfWolds 

ljBfnodf      500.00  

 2=3  
ejg lgd{f0f l;4]:j/ dfWolds 

ljBfnodf       600.00  

 2=4  
3]/kv{fn lgd{f0f tyf ejg dd{t ;/:jtL cfwf/e't 

ljBfnodf      400.00  

 2=5  Zfx/L :jf:Yo lSnlgs  :yfkgf  lsrf/       100.00  
 2=6  uf]onf;}gf–;Nn]jf;f afhk'/ vfg]kfgL of]hgf ;Nn]af;f afhk"/       200.00  
 2=7  3f]8]uf}8 st\]\[sf]6 vfg]kfg\\L st]{sf]6      400.00  
 2=8  l;df/vf]nf vfg]kfgL of]hgf sfs:ofnL       100.00  
 2=9  vfg]kfgL dd{t -sf]6uf8f, ;ndf8L, k|Tofvf]nf, lsrf/, e6\of8L, wf/fkfgL_      500.00  
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2=10  

uf}/f 3/ lgd{f0f $ j6f, 6s/], wf/fkfgL, st]{sf]6, lsrf/ 

     400.00  

 

2=11  

snfn vf]nf vfg]kfgL of]hgf Jf8f g=( vfnL8f8f 

      100.00  

  3  k'jf{wf/ ljsf; ;ldlt     

 3=1  xl/rg b]vL sfs:ofnL ;Ddsf] ;8s dd{t /f\]n]\zj/ hf]8g]      500.00  
 3=2  6s/] e6\of8L j8f sfof{no hf]8\g] 6s/]– ljhok'/      400.00  

 3=3  
Hofkm' vfnL8f8f ;Nn]af;f ;8s vfnL8f8f –;Nn]af;f 

     500.00  

 3=4  wf/fkfg\\\\\\\\L l;n\\\ufkfg\\\L ;8s wf/fkfgL l;n+ufkfgL       100.00  

 3=5  
ef}gL x'Ss]8f8f ;8s ef}gL x'Ss]8f8f ;8s 

      100.00  

 3=6  ;Nn]af;f ufonf;}gf ;8s ;Nn]af;f       250.00  
 3=7  st]{sf]6 6s/] ;8s  -j8f sfof{no hf]8\g]_ st]{sf]6 –6s/]       300.00  
 3=8  x'Ss]8fF8f vf]nf b]vL l;n+ufkfgL l;rfO{ of]hgf l;n+ufkfgL      400.00  
 3=9  7'nfvf]nf b]vL sfS:ofnL l;rfFO{ of]hgf sfS:ofnL       100.00  
 

3=10  

tNnfn]s dNnfn]s 8fF8f lxpr'nL l;FrfO{ of]hgf lsrf/ 

     400.00  

 3=11  sne6 k'n j8f g= ( df       350.00  
 

3=12  

3f]/]6f] af6f]  j8f g+= ( df  

      200.00  

 3=13  

kfgL 36\6 % j6f e6\of8L, ahf}6], 6s/], 

sf]6u8f, l;n+ufkfgL       100.00  

 

3=14  

;fd'bflos ejg lgd{f0f j8f g=( wf/fkfgL 

      100.00  

 4  jftfj/0f tyf ljkb Joj:yfkg     

 4=1  
o; j8fsf ljle\Gg 6f]nx?af6 cfPsf] lgj]bgsf] cfwf/df 

;a} ljktx?nfO{ ;xof]u 

j8f g+= ( sf ;a} 

6f]nx?       200.00  

  5  ;+:yfut ljsf; tyf ;]jf kjfx     

 5=1  

Ifdtf ljsf;, ;r]tgf d'ns gfu/ls j8f kq / ;"rgf 

k|jfx, ;fj{hlgs ;'g'jfO, ;'rgf tyf ;+rf/, ;dflhs 

kl/If0f / cf=n]=k= 

j8f g+= (  

      100.00  

  hDdf    10,000.00  

j8f g+=!) 
  qm=;= ljifout If]q . of]hgfsf] gfd :yfg cg'dflgt ah]6 

xhf/df 
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1 cfly{s ljsf;     

1=1 l;4k'/ aLp k|aw{g ;xsf/L ;+:yf ;+sng s]Gb| 8}l;nL 700 

1=2 d;nf pBf]u xtf; 500 

1=3 afv|fkfng, s'v'/f kfng, jf8{ k'/} 100 

1=4  df5f kfng 8}l;nL uf8 / aGt8 
uf8 sf]/L8f]/ 

100 

1=5 afn afnLsf ;lDaGwL sfo{qmd jf8{ k'/} 100 

2 ;fdfhLs ljsf; If]q      

2=1 sflnsf df=la v]n d}bfg lgdf{0f d6] 200 

2=2 a|Xd lg=df= la 3]/jf/ lgdf{0f xtf; 100 

2=3 ;+:yfsf] ef}lts Joj:yfkgM leqL 9f]sf lgdf{0f, 6]a'n, 
vl6of, a]Gr, 8L:k]G;/L sf]7f, k|zf;g Aoj:yfkg,                            
jly{ª;]G6/ Aoj:yfkgM                      lx6/, cf}ifwL 
v/Lb , Gofgf] emf]nf, k]/LnfO{6,;+:yfdf ue{alt NofP 
afkmt -8]lne/Lsf nfuL_ :jod ;]ljsf k|f]t;fxg, tyf 
cFGo cfjZos ;fdu|L vl/b 

xtf; 300 

2=4  vfg]kfgL d{dt j8F g=+ !) 600 

2=5 cf]v/vf]nf=em';]EjfF yfd vfg]kfgL of]hgf lgdf{0f em';]EjfF yfd 300 

2=6 kgfnL y]p8f ;Nn]af;f vfg]kfgL of]hgf  lgdf{0f   100 

2=7 7'nLvfnL vfg]kfgL lgdf{0f 7'nLvfnL 100 

2=8 d6] vfg]kfgL lgdf{0f d6] 100 

2=9 dNnf] aGt8 vfg]kfgL lgdf{0f aGt8 100 

2=10 kfgLu}/ 8'Ks] vfg]kfgL lgdf{0f 8'Ks] 250 

2=11 lgnkfn]Zj/ dlGb/ lgdf{0f 8}l;nL 200 

2=12 lkhf; dlGb/ lgdf{0f  8]as] 250 

2=13 s}nkfn dlGb/ w'lg3/ psnL 200 

2=14 s}nkfn dlGb/ ;Nn]af;f 100 

2=15 e'ld/fh dlGb/ lgdf{0f 8'Ks] 400 

2=16 n6Lgfy bnLt 6f]n dlGb/ lgdf{0f af8Lvfgf 100 

2=17 lgËfnf] afF; pBf]u ;+rfng tyf Joj:yfkg . 
cf/g pBf]u 

xtf; 
100 

3 k'jf{wf/ ljsf tkm{      
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3=1 vf]8k] kgfnL zfvf ;8s lgdf{0f    
600 

3=2 y]p8f Gof}nfgL ;Nn]af;f aGt8 ;8s lgdf{0f Gof}nfg, ;Nn]af;f 
300 

3=3 xtf; 7'nLvfnL s[lif ;8s xtf; 7'nLvfnL 
300 

3=4 8'Ks] ;8s lgdf{0f   
200 

3=5 xtf; aGt8  s[lif ;8s lgdf{0f   
400 

3=6 vf]8k] ;f}vfof Gof}nfgL s[lif ;8s lgdf{0f   
100 

3=7 vf]8k] af8Lvfgf ;8s lgdf{0f   
250 

3=8 cf/ l; l; k'n lgdf{0f lsnf]xGof vf]8, aGt8 
, 58Lvf]nf, af8Lvfgf 400 

3=9 rf]/fdemf vf]nf kftn l;rfO of]hgf lgdf{0f kftn 
1300 

3=10 tNnf]rk8f l;rfO 6+sL lgdf{0f tNnf]rk8f 
100 

3=11 psnL l;rfO of]hgf lgdf{0f psnL 
100 

3=12 em';]Ejf u}n]s l;rfO{ lgdf{0f em';]Ejf 
100 

3=13 psnL ;fd'bflos ejg lgdf{0f psnL 
400 

3=14 l;4l;uf; cfwf/e't ljBfno ejg dd{{t kgfnL 
350 

3=15 ;'wfl/Psf] kfgL36\6 ;a} 
100 

  s'n hDdf    
10000 

 


